Phonological rules affecting syncopated 2sg. and 3sg. verb forms.

1. Vowel changes.
The vowel of the verb root is subject to i-umlaut. Taking the classes of strong verbs in
traditional order, the following changes occur.
Class I. 1— 1 (drifan: drifst, drifp)
Class II. o — 1e (cléofan: cliefst, cliefp)
i — ¥ (brucan: brycst, brycp)
Class IIlI. i — i (drincan: drincst, drincp)
e — 1 (helpan: hilpst, hilpp)
ie — i (gielpan: gilpst, gilpp)
eo — (weorpan: wierpst, wierpp)
Class IV. 1 — i (niman: nimst, nimp)
e — 1(beran: birst, birp; brecan: bricst, bricp)
ie — i (scieran: scirst, scirp)
u — y (cuman: cymst, cymp)
Class V. i — i (licgan: ligst, ligh); in this case the root vowel is already umlauted
e — 1(sprecan: spricst, spricp)
ie — i (giefan: gifst, gifp)
Class VL. a — @ (faran: ferst, ferp)
a~ o0 — e (standan: stentst, stent)
but: e — e (hebban: hefst, hefp), because the root vowel is already umlauted, and
ie — ie (scieppan: sciepst, sciepp), for the same reason
Class VII. & — & (sl®&pan: sl&pst, sl&pp)
a — & (cnawan: cn&wst, cn&wp)
a~ o0 — e (gangan: gengst, gengp)
€a — 1e (hl€apan: hliepst, hliepp)
ea — ie (feallan: fielst, fielp)
0 — & (rowan: réwst, rewp)

€ — & (wepan: wepst, wepp); in this case the root vowel is already umlauted



2. Consonant changes.
e t+st,d+st—tst;t+p,d+p— tt (— tafter a consonant, and usually after a long

vowel or diphthong); thus:

bidan: bitst, bit(t) sittan: sitst, sitt
bitan: bitst, bit(t) biddan: bitst, bitt
geotan: gietst, giet(t) wadan: watst, weett
be&odan: bietst, biet(t) standan: stentst, stent
lutan: 1ytst, 1yt(t) l®tan: 1&tst, [&t(t)
bindan: bintst, bint r&dan: r&tst, r&t(t)
sweltan: swiltst, swilt hatan: h&tst, h&t(t)
gieldan: giltst, gilt scadan: sc&tst, sc&t(t)
feohtan: fiehtst, fieht b&atan: bietst, biet(t)
etan: itst, itt healdan: hieltst, hielt
tredan: tritst, tritt blotan: blétst, blet(t)

begietan: begitst, begitt
* b+st—(t)st; p+ b — pp (— D after a consonant, and usually after a long vowel or

diphthong); unstressed and common verbs tend to have more opaque outcomes;

thus:
snipan: sni(t)st, snip(p) weorpan: wierst, wierp
abreopan: abrie(t)st, abriep(p) cwepan: cwist, cwip(p)

* s+ st — st; s+ p — st; thus:
risan: rist, rist lesan: list, list
¢eosan: Ciest, Ciest

* root-final geminates are simplified before syncopated endings; thus:
onginnan: onginst, onginp giellan: gilst, gilp
swimman: swimst, swimp bannan: benst, benp

swellan: swilst, swilp feallan: fielst, fielp



